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⑭5.2, Continued
-
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Ex Write (Elsin(t) as a definite integral
- A iNX
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= 7
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so
b= a+7= 9



-Chapter 55 laterial Theorem of Calculus actually a theorems

Prity] Suppose g(x)= f f(i)d .
What's g()!

To find g'x ~
a

Some
other function

f(x)

Cknow
,

constant IWe want +o
as x increases

,

how fast dies g(x) increase I
f(x) ↑
1 f(z) when x is very q(z)

small
,
this extra are aM is almost a rectangle,a ↓t with~ height f(x) Lex g(x)= (Yf(x)d.⑤ and width x

What's g(2) ! stat =7

So g(x), are ** = f(x)
q(- 1)

= 0

je-j-
the



We just learned That &((<(*)d) = f(x) . That means Iftd is an ansideriv
. of f(x)

.

Remember : any two antiderius of a continuous function differ only by a constant
.

So
,

if f(x) is an ansider
.

of f(x)
,

Then SYf(ildi = f(x) + C .

Whais .

e

(f(x = f(a) + ) - 0 = f(a) + -c =

- f(a)
-
O

We get (((id= f(x) - =(a) ns(f(x)dx = f(b) - f(a)

ficprciviou
[a] and I is an siderin fe



FTC Part# : If
,

f is continuous on [a, b] and I is an ansideriv off,

ine((b)- f(a)

Ex) Compute S"(x + 2x)dx . Need ansider
. of x +2x . Use f(x)=* +

x
.

IfTC says
: ((x +2xdx = ((1) = (- + 3) -( + i) = 18 - ==

C

Mothersome. site is



Ex Compute (" dx = 3 arcan(x)]"NM)-
I

(0r : = (3aran(x) + 12)]" = (3arcan()(7) - (3arcans) +)

Ex &**sec*dx=4+ar(x)
**
= 4 +ar(t) - 4+an() =

- 45

I
discontinuity at X=! Can't use FTC .

Can't solve This yet !


